P
o= =
1O

e

7J
oll
HI
0

==
(o]

(o]
=

UABS-S2HE]) HM2KIAl

=

S

n|

3]

X
o

(4]

20062 Al2

mo

puzel

AL el A
(30%0)

9 WA 4A% 1 BIAR

bt o
fie] 0274

°

T

k<)
o

A%
o

29)

=]

b iTh e 7 Aol A
uAngon ARy 7%

o

ST

=ugol AR, BARA R B

S71L 69 olue) 7178 3

o

file}
rvze]

ojy

o4& A=A 13]

Az gt Atk - E AAJS] A

ol

H

2

g

A

o

SHA1 Q. (307)

5

) ) 3

=

%0
e
=1

ofl

Eail
KO

=
[[s)

A zel A

o«

\=4ye]
o

A4 3]

|

o}l

>
=

YRR

(20%1)

~1,

o)

b

S

ko] A

S

=2l

CIVIL SERVICE COMMISSION

SSOIALA

D 9 BRAEAREH g APEA FA o

asc=amnsum

n“




